0000

B0000

50000

40000

30000

20000

10000

0

Run 5072 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

[ Enfries 76173

[ Mean —1031

[ Sid Doy 2.824e+05

:I | I | I | | | I | | L1 11 | | I | | | I | | | I | | | I | | L1 11 L1 11 | | .‘K.'I ﬂﬁ
—80 —70 —60 B0 —40 —a30 —20 10 0 10

HelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 38.316238)

25000

20000

15000

10000

5000

0

Run 5072 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

: Erlries 27851

B Mean —2395

[ Sid Dav  4.662e+05

_||||||||||||||||||||||||||||||||||||||||||||||||:!l{'|l‘.'j|ﬁ
—80 —70 —B0 -8R0 —40 —30 —20 —10 0 10

HelNSamples0)/|FosHelAccel/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 38.316238)

Run 5072 quartetwise, Asyms0 (Raw): Beam OFF

quarebwise_bsamd asyrb

— Eniries 13204
400 — Mean ~0.01842
- Std Dev | 794
350 —
300 —
250
200 —
150 —
100 —
50 —
'D : | | 1 .—.I_.-L | =1 |
) 8 —4 2 0 2 4 [ B

HelNSamples0)/|PosHelAced/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 38.316238})

Q00

800

00

600

500

400

300

200

100

0

Run 5072 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

L |

auamstwiza baami la=® asymi

Eniries 16847
Mean -0 009782
Sid Dewv 13.7

—60

40

—20

0

20

Iy
40

60

HelNSamples0}/|{PosHelAced/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 38.316238)
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